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ComMMON CORE ALGEBRA 1

"PART I QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

1. Which of the following is equivalent to ‘-{ (/ é W+ 7)

2. Which of the following is the value of the expression - "when x= - ?

3, If the expression & +3X is equal to 4 Zfor some value of x. Does x = 39

4. T¢ binomial .»7_+ 2% equ;m.!en““ 2% =1 ?

o ED iy e blnk 3x+ x+__ = Tx

_ 3;}__



6 The Sum of 6-X and el s . . [A

Y

;

v
7. Which of the following equations illustrates the- dis&r’M“’Qpropeﬂy anr) commu Tattue Pﬂ’fe(i'j .

wz(x):—Zx -2 +% = X -2

8. Which of the followingis. 3 ( -_—éx)

9. The expression Q(X) + 9%+ 3 is equivalent to cach of the following -

10. When written in simplest form the expression 4 ( —lp % + 7) -+ 3( g~ X)

~ 38 -



o Name:

PART II QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

i1, Find the SuM} of —2x  with B - in simplest form.

wn. —H(N- 5)
12. If n represents a number, SimP‘;FJ -H’w, ey (\_-){e,SSlbn. | (

i
[}

B+

13. Which of the following is equivalent to the expression whenx= -

PART IIT QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

14. Which of the following properties justifies the equivalence: Deline 'fag answeR

3+n=n+3 Cand G(x)=6x

If

15. Yy = -§ for some value of x, is it true when x =

-3 7 Shw subshiufion,

X _'3 _
>4 3095 — e‘l u ‘ \
4ion 'S

- 7

be e 17 q




16. Of the following, which are equivalent?

T-n=n-1 ok B(x+d) =3xHIE

I
I

fombine b¥e koms Be e epression  ~Bx - O% T

17.

PART IV QUESTION: Answer the question in this part ,. Show c(.)ou( Loor K-,

18. What is following step to simplify the expression.?

i;)xpression 1"; ..,3(‘-] ¥ - l) + 1 (SX - 2.)

Step #1 ~12%+3 + 3Sx -

19. Simplify the problem above.
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PART I QUESTIONS: Answer all questions in thlS part by writing the choice of the appropriate answer in the

blank beside the problem. Please show all of your work.

1. Which of the following values of x is a solution to the equation 'L.’, ( X - 3) + 8 =

2. SD\W?- “I‘QU’. foo S¥ep e?aa{lb"‘ :’;xr +5 = =17

3. Wrike yes/ﬂo"'{,, m,.-deqmjmu when % =-2.

Yo er x>

4. T o times the sum of a number, 7, and ¥ is at Most 0 Which of the following inequalities properly

‘ models this statement? (4jpJe 71—{}’\;5 Stafernen £, \
. £ means

7 means

£
— means L —————

_ A - > means —




L @ Uait 2 5‘% Guile

-5, Max correctly starts solving the linear equation 5 (X +7) -9 writing Y # 7 == 3 Which of the following

properties justifies what Max wrote?

X+ 1 =-3

6.  Which of the following graphs shows the solution sef to 5 X — 7 >3

G;r‘w\gh e ,So‘quoﬂ

open ¢ire le
on

Closed cicele

ettt
304 5 4L 718 why. ¢

(‘,ar;leu greatel than  on  less Hian

7. The value X=8 is a solution to each of the following, except which?

X -4 > 3x o Z(x-«-.’s):qx-:-—/o

4
. 8. Plato was saving |8 cach week in order to have enough money for a phone that costs 4150, 1f his father
started him off with# 30 which of the following is the minimum number of whole weeks Plato will need to

3 .
save! U““‘}‘ on eq(,uuHan and  Solue.
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__ PART I QUESTIONS: Answer all questions in this part. Please show all of your work. /4 [q&bm

9 The 'oerimekf is given by the formula P :!’f)( " SO ,UQ'B( 4 in terms of P ’

10. When a number, ¥ is increased by H 1 and then the result is mu fhph'cJ 63 A is equal to /&
Write an equation and solve it to find the value of . %,

11. Justify your response, is the value X= -4 a solution to the inequality Sx -3 7 (9 X

12. Solve the following equation for x. Show the manipulations that lead to your final answer.

7(X'+&) — 3% +4 = (x——5>-+(x-3}

- BA -
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13, Algebraically solve the inequality 5}( ~146 _<__ - 9( 3x + ‘l)

3t

14, Graph the inequality from #13 on the number line.

e
Vi

10 5 0 5 10

15. Give a property of real numbers or a property of equality to justify each step in the solution of the equation
shown below., '

Hx~8+Ax =37

. Step 1
Uy +dx -3+ =31
~_Step2
bx - 7= ~37
~_ Step3 :
Lo GX =-30
Step 4
X= =5

16. Solve the following multistep equation. — 3 > "’ = ~ X
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- CoMmoON CORE ALGEBRA 1
i’AR’I‘ I QUESTIONS: Answer all questions in this part. Show all of your work.
CIf 3(x) Sx+42 an
j( )=5()+2

#hen which of the following is the value of. j ( ;éJ'anJ -F( - 3) ?
{-‘( )=x -4 |

f()=() -4

2. If a function is defined by the formufnﬂx 2y %o - and its domain is given by the setz 3} -4 y 0 y 4 g

whoh of the following sels gives the! function’s range?
~+ Subshitulbe Substifule oa usc
T

rA“‘je iSj R .£(x) -

3. The distance, d, that a car has traveled, as a function of time, ¢, is given in the table below. What is the average
rate of change of the distance over the interval </ <10 <«— use Hoege Alumbess

)

e — o Jefernine. Hhe
(P|d@miten] o [ 119 ] 150] 371 | 32214881 " jistance nd He
(x) t (hours) 0 a Y - ' g o Number of hours

: Juring $Ae qlen
~_ ettt

% d c il mleJ |
—--_I'lowrs l*j-—" > — m:}f—s | ha.kﬁ (9 mle.s PQI hout™
o j 78

4. For the function h(x) shown graphed below, over which of the followmg intervals is })(X) =0

h{x)= jx 1|-a 4 ©

- Z x £

X m T
ULme = ' C—-—;-—-—) (:-) _2)
1A




. X 3A

5 For the functlon deﬁned by f x) {3
X~

19() 30)-

S
. which of the following represents the value of f (6) ?
x>

6. For function g (x) graphed below, over which of the following intervals is g (x) 1 C(easiﬂg
3
(——) R Lo
: - / 1d
&VIJ | ; > X ) ‘fﬁe 5{‘0.‘?’/1 Shou
) , ‘ 9o P

L

i

7. Given the graph of the function f (x) shown below, which of the following intervals represents its o’om A

Aom“““ '.’1 T Oje-pine JOmA;(\:
VINGS PN
— ~ X = ot THEHENAT, what is He dfecence bedeveen
( ‘,) ( ' 3) , an open cicde and o Closed
I T ciecle ?

8. A function is initially defined by the set of coordinate pairs g(—z ,6),(-5).(3, -B)E_Which coordinate pair
below, if added to this set, prevents the set from representing a function?

| Explain why?
(Y g s B
X Define @ mon-funcdins 1+ has i"cfei}r‘ﬂa — Values,

Xofv

(s ¢ e,?eo-*&f]

Jo crente O non-fuaction

9. Ifthe function 4 (x) is defined by h(x) =3x then which of the following values of X S'o”}'\r_e.s' the

equation h( “(2{)? }(_ ).: 3( ) : Sudshitution rm\o[e,m

()= .
~ |18~

e
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PART Il QUESTIONS: Answer all questions in this part. Show all of your work. /] /j e hra

},0. The function f (x) is shown on the graph. What point does f“{) represent? Put this point on the graph.
y
-1 - )
JR—— ) ——

i
11. What point(s) does the value of f{x) ==~[ represent? Graph the poini(s). ¥
. ,A..._l> C , _
Y e (2

12-13. Do the following graphs represents functions? Explain how you arrived at your choice.
y ¥y
A Fy

— w s —

W

4@0 o G\Oﬂ;jﬁmchm

v

/4

rad o Luncton

Explain: }( _U&\U'Q. FQPQOJYS o Explain: < X U().)U\.Q JQQ‘SD r(@

PaRT IIT QUESTIONS: Answer all questions in this part. Show all of your work.
14. Two functions, and g (x) , are given below. Deterntine which of these functions has the greater average
rate of change over the interval | € X & 3

- v cthange 7 3
Thelgvera_gg Ette of change]shows /\ N 0 clalzlyls e
R 1

sub\mff’“““&eh gx) | ot aly| 8} 34|68
L A
(’/kﬂnjc. ?

A "Q"
'76\0“) V\w\o“b

10° X 909
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15. Graph the piecewise function shown below on the
axes provided. Which point below is on the graph?

i
!

f(x):fax*gg lefween ~H £X =-2

x| £
-4 X
-3
— 2_ . _
16. What is the value of £ (-3)for this 'GMIUHOY’ 7 ,
Circle this point on your graph. oo
Wich ot {5 on Hhe x=-3 Line ?
(— —)
PART IV QUESTION: Answer the question in this part. Show all of your work. o
17. For the function f (x) shown graphed below answer the following questions.
State the d@mﬁ%w ranj e, 4
- . +r$u-3
4 % & - ‘ £ p(x & — \B/
- a T o how 5&:\ 1
w)
hoed , dovtinr 6nc m > Fange wyn ?
Left ! { right ] ] X
18. What values of x solve the equation f (x) ==\ )/é' i Al
Circle points on your graph that justify your solution.
Tf\e,\pg 0R e 3 PA —Ualuts on -F(x) s - , % T
| ‘ XY
19. Give the intervals over which f(x) is chmﬂqa_ ; and,
circle the ddeasi ID sections ori the graph.
_ dJecreasin g
. X‘ L jadedua )
o Hywk fom Lett Ho right
e (Botim HRNY) 1 b aging ——— e
(rog of HheRH) i+ s goiny

- 125~
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CoMmMON CORE ALGEBRA I

}PART I QUESTIONS: Show all of your work.
1. Which of the following is the slope of the line that passes through the points ( - q ) é) on ol( | , C})

19, u=yehnge - L1

< :__m > X chame 1

2. Which equation could correspond to the graph of the linear function shown below?

3. A wheel with a specthic (‘J(wmére““" will move $40inches when rolled 0 times. How far will the same
wheel move, to the nearestinch, in ¢ jolls?

= MX X ___5__ ‘J«CS ofke G rolls,
13 _ (‘) ( ) ) C?, Z M 5"/0 _ ‘ tn
- ZO dhstanc e
4= Zo | 940 | per rof)

4, A line with a slope of -3 passes through the point ('—i, ~5) . Which of the following is the equation of the line?

M= Y:MX‘FB
j:( X+ R

-
1

JSA-
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H
. A rental car company charges a base fee of Q S plus A9¢ per mile driven. Which of the following
equations models the charge j for renting a car based on the number of miles, X , driven?

. boo=sNy 7 i
. Which of the following is the equation of the gfaPHJ?kE)Virﬁ’"? J
M . s .k..j.._,uuw R
ﬂ ,,_mli,_,‘,‘ j \J/ ;

! SRR
. Charles is making a recipe that calls for 5 _quarts of milk. Unfortunately, Charles only has a single cup
measuring device, If there are two cups in a pint and two pints in a quart, then how many cups will Charles
need for  § quarts of milk? TfB=0o,

solve fom 4
x/j:Mng @ @

i
i
I
F;._.
§
i

i. e St

L5 l
5'—'( Y )+0 'P‘“‘fl l pint
| guact —M.: —cups
. Which of the following equations describes all points ona Verticed line that passes through the point (- b j 8)

Rm!y Jouches X

Jertice\ L\n;; X =

i L =
. A sequence is defined by the rule. If f(x)=YHx+2 If £(})= { then what does f ()= 9
f()=H0)+=

f)y= H+2

£y = &
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11{) If graphed in the coordinate plane, would the line y = 3 % +{, pass through the pointé— 5;-.‘7)Explain how you
arrived at your answer. ({ge 3%5,[”,”[{0;\ \

}65 , __Eé Cause e, Last

eclua}zon is

[

; 4
11. An arithmetic sequence has a B term of band a /1/] term of 8 What is its 3!:_, term? Show how you

arrived at your answer.
£
B = : M pouit x

| 0 P
() ! L

i

3 ] 2 +—

12. As a large truck fills its gas tank, the volume of gas, in gallons, can be modeled with the linear function

=7.Ix+5 ,whereyis the volume of gas and X is the number of minutes it has been filling, Give a physical
interpretation for both the 7.1 and § parameters in the linear model. Use appropriate units in your
explanation.

7.1 (s Hhe
S is :%e— .

13. Write the equation of the line that passes through the points (Sy B) and (3 ' ;B)Express your answer in simplest
y=mx+b form, '

1Y M:)ﬁﬁj:m
/4_____L L j_—../v\x,+8

e Iy OO B

1}

PART III QUESTIONS: Show all of your work

which s 9allons . per minuwle being fib
Which s e Swlaﬁllry




o 36{ g lfj e lf y Machea. Uni+4 B

14. Graph the lin€ y -Yx = -3on the axes provided.

My 4x X1y

I5. Use the graph from #14. At what value of y does the line hav
when x = & : Show how you determined your answer.

/ -y = -3
‘5.%%‘*“4& jy_h u( ) = -3 A B
, \ 2

16. A company produces boxes of DVD's at a rate of §0boxes per hour. They begin to produce boxes when they
first open for the day and after 4 hours have 573 boxes in stock. How many boxes were in stock when

they opened? 8
¥ op j":— MX+ 8 Tj M‘: %O

®
(9: ( )X"' Qu\ﬁe’Qov-

C)=(X>+B j-_—%Ox-{-

17. Use the same company from problem #16, Write a linear model for the amount of boxes, Y as a function of
the number of hours since they opened, X Use your model to predict the number of boxes in stock at the end
of § hours of work., \

,X l\’—, | | l)oxeS wtll be

ot e compﬁnj at
Hoo end of +Q.Lc)~aﬁ

- 6B -
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.*PART I QUESTIONS: Show all of your work.

1. Which of the following is the X-coordinate of the solution to the system shown below?
2% = 13
H % =12

—

X = —_—

2. Theline y= ?3’ x ""3 Is graphed. Graph the other line y = -x +{ Which of the following would be the
N

y-coordinate of the solution when both lines are graphed? i

!

ff:““‘“ | ]

V

NN
SN

3. Which of the following equations would have a solution that is the same as the solution to the system?
Subsimte

Joluton Lf5‘(+7 =33 X =6

Ciecke? '
e5 / ~NO

4. Is(d, 3:)3. solutton to the system of equations? y=9%-12 y=-3% + 20




5. The
% The

Wede zﬂ\" Solution

--(; -3)
/ n

ua.f ue j Ve

i

" functions f(x) = X -l»?) and g(x) = % X» ” are shown.
:solution to f{x)=g(x) is which of the following.

Unt SA . Gulde_

.

F

6. Which of the following points is a solution to the system of inequalities sho}yvn graphed below?

Weide o 5o lutdon
<Ly -2
- &
'9 (*—-'-) *““‘>

j i~3x+8 T's -;‘JuS Pufﬂ"'

He dloufaé’ Shaded : ?

(YANEREPFY

N
] ?

7. 'Which of the following is the value of y that solves the system of equations shown below?

"SX +éj

Sx +6(2x)= S\

8. At what point do the lines y =,,?x -9 md y =-ofx ._|-3 intersect? Show Mr. V the calculator.

X1Y
/
2

3

X

9

P

L
Z

54

rr—y

e e

- 198~

(——)
15 he
Sofu{’?oﬂ .




"  NAI/VM-' _ Date: Unt S B Sé"ﬁ{g

PART I1 QUESTIONS: Show all of your work,

9. Find the value of x that solves the system shown below. Show the work that leads to your answer.

y=3x  and o?x+j=-*3°

2 X + 3)( - - 30
10. Gr i =22 4 - —_— > %
. Graph the system of equations. y= gx + ( and y —5): - (0 y

Zz RS e BT RS S, o]

o 2
to entex 3 ' B .

fractons. ':' — REi Y

11. What is ﬂ?olution to #1072 '—q 6
- A

o)

pfHe -

lineos

plergetion L
o [ ) <R

PART 11 QUESTIONS: Show ali of your work.

12. Solve the following system of equations algebraically. for +he So luton .




aﬁhL SB Sé/l/é

13. Sketch the graph to the system of inequalities shown below. Explain how to shade.

J\y
y7 qx y= 2 X +6) v
dhed !
S'Dls f")
S'o!( .
Slmdeakue 2 5!.«Je Ane 3 d
5/,,.!@ era» sﬁ.chl:eiao L c,,dQ \ >
14. Graph the point 6‘5 I} Is it a solution to the system‘? :
ot\ \C e
Ts itin He |
s 1T S o NO
&

Doble shadkd 7 ——

15. The Poughkeegsie Drama Club is selling tickets to an upcoming play. They can selliScotickets, The adult
tickets sell for®/D each and student tickets cost {ree They would like to raise § 3600 If x represents the
number of adult tickets and y represents the number of student tickets, answer the following,

Write a system of equations that models this situation.

+ - e+ =
nu?Fer | nufgébe\f n“mokir"' - g%s+ mg?ber g?pﬂ nwm Cos+ o\"
Al Sdnd  hckets Cith Al Sk Shekny AU
. e Fiket  Fokets hiket .y pels Jie ke TS

Hikefs Fickels
16. A party is thrown where Q0 tables are used. Each table either sits 8 people or @ people. A total of J70. people
can be sat at the tables. Iff represent the number of | 3. person tables and T represents the number of /0

person tables, write a system of equations that models this situation.

T,
—
—— — ——

Nambog o Mamber of Total ondthes ";’f”" g{}nhf ﬂgzbev h:?m Totud seuts

]

é:rjh Fpeson 7, persen 7‘4!:;:5 P&;ﬁ €int  Hals Ten faffe
Tables  Tobes one  Peron el peten oo
ejihy-  Tables Om  labes
fen
Eimon petsor
) | dlde Table

— 70—




